CROSSOVER CODES IN HOUSEHOLD TABLE

There are field in the household data such as occxhoh, socxhoh. According to the
notes for the interviewers from 1997 held by the UKDA they are used when the
income of the “Head of Household “ is less than the adult who is not classed as the
“Head of Household”. Here are the interviewer notes:

IF THE HOUSEHOLD COMPRISES HUSBAND. WIFE
OR HUSBAND, WIFE & CHILDREN<21
HOH = HUSBAND

Here are notes explaining how to determine the Person number of the Cross-Over
Head of Household:

Q105 Person number of cross-over Head of Household
[CODE 0 IF NO XHOH]

[IF HOH RECEIVES LESS THAN f150 PER WEEK GROSS,
OR IS A STATE PENSIONER

THE XHOH IS PERSON EARNING E150 GROSS PER WEEK
OR MORE A WIFE CAN BE A XHOH]



